

	Dale								Assumes I Proje	ction		Assur	County Yield mption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	Pavment	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$6.44	_	_	_	_	_
Canola	Pound	All	-	-	-	-	-	\$0.1996	_	_	_	_	-
Corn	Bushel	All	119.86	\$4.85	\$581.32	\$499.94	\$58.13	\$4.43	112.85	99.73	119.86	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	-	-	-	-	\$4.43	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	-	_	-	\$4.43	-	-	_	-	-
Grain Sorghum	Bushel	All	43.00	\$5.01	\$215.43	\$185.27	\$21.54	\$4.40	42.10	37.21	43.00	\$4.31	\$3.81
Oats	Bushel	All	44.27	\$3.38	\$149.63	\$128.68	\$14.96	\$3.52	36.55	32.31	44.27	\$2.91	\$2.57
Peanuts	Pound	All	3,292.60	\$0.27	\$880.77	\$757.46	\$88.08	\$0.2535	2,987.97	2,640.55	3,292.60	\$0.23	\$0.20
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Irrigated	2,653.92	\$0.40	\$1,050.42	\$903.36	\$105.04	\$0.3509	2,574.38	2,275.06	2,653.92	\$0.34	\$0.30
Seed Cotton	Pound	Nonirrigated	1,788.67	\$0.40	\$707.96	\$608.85	\$70.80	\$0.3509	1,735.08	1,533.34	1,788.67	\$0.34	\$0.30
Soybeans	Bushel	All	36.87	\$11.12	\$409.99	\$352.59	\$41.00	\$10.65	33.11	29.26	36.87	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.2081	-	-	-	-	-
Wheat	Bushel	All	48.17	\$6.21	\$299.14	\$257.26	\$29.91	\$6.00	42.88	37.89	48.17	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



	Dallas								Assumes I Proje				County Yield mption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	Payment	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$6.44	_	_	_	_	_
Canola	Pound	All	_	_	_	_	_	\$0.1996	_	_	_	_	_
Corn	Bushel	All	143.97	\$4.85	\$698.25	\$600.50	\$69.83	\$4.43	135.55	119.79	143.97	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	-	-	-	-	\$4.43	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	_	-	_	-	\$4.43	-	-	-	-	-
Grain Sorghum	Bushel	All	44.67	\$5.01	\$223.80	\$192.47	\$22.38	\$4.40	43.74	38.66	44.67	\$4.31	\$3.81
Oats	Bushel	All	46.93	\$3.38	\$158.62	\$136.41	\$15.86	\$3.52	38.75	34.25	46.93	\$2.91	\$2.57
Peanuts	Pound	All	3,491.45	\$0.27	\$933.96	\$803.21	\$93.40	\$0.2535	3,168.44	2,800.04	3,491.45	\$0.23	\$0.20
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.2535	-	-	-	-	i - I
Seed Cotton	Pound	All	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Irrigated	2,408.35	\$0.40	\$953.22	\$819.77	\$95.32	\$0.3509	2,336.16	2,064.55	2,408.35	\$0.34	\$0.30
Seed Cotton	Pound	Nonirrigated	1,801.25	\$0.40	\$712.93	\$613.12	\$71.29	\$0.3509	1,747.25	1,544.12	1,801.25	\$0.34	\$0.30
Soybeans	Bushel	All	43.56	\$11.12	\$484.39	\$416.58	\$48.44	\$10.65	39.11	34.57	43.56	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	i - I
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	i - I
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.2081	-	-	-		i I
Wheat	Bushel	All	40.32	\$6.21	\$250.39	\$215.34	\$25.04	\$6.00	35.89	31.72	40.32	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	i - I
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



	DeKalb								Assumes I Proje			Assur	ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	48.00	\$5.07	\$243.36	\$209.29	\$24.34	\$6.44	32.50	28.72	48.00	\$4.36	\$3.85
Canola	Pound	All	48.00	\$5.07	\$243.30	\$209.29	\$24.34	\$0.44 \$0.1996	32.50	28.72	48.00	\$4.30	\$3.85
			475.70	-	-	- 6722.40	- 605.25		465.50	116.26	475.70	-	- 62.60
Corn	Bushel	All	175.78	\$4.85	\$852.53	\$733.18	\$85.25	\$4.43	165.50	146.26	175.78	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	-	-	-	-	\$4.43	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	- ¢5.01	- 6222.45	- ¢102.17	- ¢22.25	\$4.43	42.67	-	44.60	- ć4.24	- ¢2.01
Grain Sorghum	Bushel	All	44.60	\$5.01	\$223.45	\$192.17	\$22.35	\$4.40	43.67	38.60	44.60	\$4.31	\$3.81
Oats	Bushel	All	59.53	\$3.38	\$201.21	\$173.04	\$20.12	\$3.52	49.16	43.44	59.53	\$2.91	\$2.57
Peanuts	Pound	All	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	2,482.32	\$0.40	\$982.50	\$844.95	\$98.25	\$0.3509	2,407.92	2,127.96	2,482.32	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	47.70	\$11.12	\$530.42	\$456.16	\$53.04	\$10.65	42.83	37.85	47.70	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.2081	-	-	-	-	-
Wheat	Bushel	All	70.28	\$6.21	\$436.44	\$375.34	\$43.64	\$6.00	62.56	55.28	70.28	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



	Elmore								Assumes I Proje	ction		Assur	ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$6.44	_	-	_	_	_
Canola	Pound	All	-	-	-	-	-	\$0.1996	-	-	-	-	-
Corn	Bushel	All	170.46	\$4.85	\$826.73	\$710.99	\$82.67	\$4.43	160.49	141.83	170.46	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	-	-	-	-	\$4.43	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$4.43	-	-	-	-	-
Grain Sorghum	Bushel	All	43.67	\$5.01	\$218.79	\$188.16	\$21.88	\$4.40	42.76	37.79	43.67	\$4.31	\$3.81
Oats	Bushel	All	-	-	-	-	-	\$3.52	-	-	-	-	-
Peanuts	Pound	All	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	1,893.46	\$0.40	\$749.43	\$644.51	\$74.94	\$0.3509	1,836.71	1,623.17	1,893.46	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	41.05	\$11.12	\$456.48	\$392.57	\$45.65	\$10.65	36.86	32.57	41.05	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.2081	-	-	-	-	-
Wheat	Bushel	All	55.00	\$6.21	\$341.55	\$293.73	\$34.16	\$6.00	48.95	43.26	55.00	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



E	scambia								Assumes I Proje	ction		Assur	ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	Pavment	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	-	-	_	-	\$6.44	_	-	_	_	_
Canola	Pound	All	-	-	_	_	-	\$0.1996	_	-	-	-	-
Corn	Bushel	All	-	-	-	_	-	\$4.43	_	-	_	-	-
Corn	Bushel	Irrigated	197.30	\$4.85	\$956.91	\$822.94	\$95.69	\$4.43	185.76	164.16	197.30	\$4.17	\$3.69
Corn	Bushel	Nonirrigated	152.05	\$4.85	\$737.44	\$634.20	\$73.74	\$4.43	143.16	126.51	152.05	\$4.17	\$3.69
Grain Sorghum	Bushel	All	-	-	-	-	-	\$4.40	-	-	-	-	-
Oats	Bushel	All	50.53	\$3.38	\$170.79	\$146.88	\$17.08	\$3.52	41.72	36.88	50.53	\$2.91	\$2.57
Peanuts	Pound	All	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Irrigated	4,864.23	\$0.27	\$1,301.18	\$1,119.01	\$130.12	\$0.2535	4,414.20	3,900.95	4,864.23	\$0.23	\$0.20
Peanuts	Pound	Nonirrigated	4,021.05	\$0.27	\$1,075.63	\$925.04	\$107.56	\$0.2535	3,649.03	3,224.77	4,021.05	\$0.23	\$0.20
Seed Cotton	Pound	All	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Irrigated	2,266.66	\$0.40	\$897.14	\$771.54	\$89.71	\$0.3509	2,198.72	1,943.09	2,266.66	\$0.34	\$0.30
Seed Cotton	Pound	Nonirrigated	1,845.19	\$0.40	\$730.33	\$628.08	\$73.03	\$0.3509	1,789.88	1,581.79	1,845.19	\$0.34	\$0.30
Soybeans	Bushel	All	45.72	\$11.12	\$508.41	\$437.23	\$50.84	\$10.65	41.05	36.28	45.72	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.2081	-	-	-	-	-
Wheat	Bushel	All	53.00	\$6.21	\$329.13	\$283.05	\$32.91	\$6.00	47.17	41.69	53.00	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



	Etowah								Assumes I Proje	ction		Assur	ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	_	_	_	_	\$6.44	_	-	_	_	_
Canola	Pound	All	-	-	-	_	-	\$0.1996	-	-	-	-	-
Corn	Bushel	All	155.09	\$4.85	\$752.19	\$646.88	\$75.22	\$4.43	146.02	129.04	155.09	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	-	-	-	-	\$4.43	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	-	_	-	\$4.43	-	-	-	-	-
Grain Sorghum	Bushel	All	46.67	\$5.01	\$233.82	\$201.09	\$23.38	\$4.40	45.70	40.39	46.67	\$4.31	\$3.81
Oats	Bushel	All	-	-	-	-	-	\$3.52	-	-	-	-	-
Peanuts	Pound	All	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	2,152.46	\$0.40	\$851.94	\$732.67	\$85.19	\$0.3509	2,087.95	1,845.20	2,152.46	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	36.83	\$11.12	\$409.55	\$352.21	\$40.96	\$10.65	33.07	29.23	36.83	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	1,166.67	\$0.23	\$269.27	\$231.57	\$26.93	\$0.2081	1,112.73	983.37	1,166.67	\$0.20	\$0.18
Wheat	Bushel	All	67.67	\$6.21	\$420.23	\$361.40	\$42.02	\$6.00	60.23	53.23	67.67	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



	Fayette								Assumes I Proje				ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$6.44	_	_	_	_	_
Canola	Pound	All	_	_	_	_	_	\$0.1996	_	_	_	_	_
Corn	Bushel	All	122.05	\$4.85	\$591.94	\$509.07	\$59.19	\$4.43	114.91	101.55	122.05	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	-	-	-	-	\$4.43	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$4.43	-	-	-	-	-
Grain Sorghum	Bushel	All	46.93	\$5.01	\$235.12	\$202.20	\$23.51	\$4.40	45.95	40.61	46.93	\$4.31	\$3.81
Oats	Bushel	All	47.67	\$3.38	\$161.12	\$138.56	\$16.11	\$3.52	39.36	34.79	47.67	\$2.91	\$2.57
Peanuts	Pound	All	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	2,150.45	\$0.40	\$851.15	\$731.99	\$85.12	\$0.3509	2,086.01	1,843.46	2,150.45	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	22.84	\$11.12	\$253.98	\$218.42	\$25.40	\$10.65	20.51	18.12	22.84	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.2081	-	-	-	-	-
Wheat	Bushel	All	63.27	\$6.21	\$392.91	\$337.90	\$39.29	\$6.00	56.32	49.77	63.27	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



	Franklin									MYA Price ection			County Yield mption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/2 MYA Pri Projectio	ce Payment Rate	for Max Payment	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$6.44	_	_	_	_	_
Canola	Pound	All	-	-	_	-	_	\$0.199	5 -	_	_	-	_
Corn	Bushel	All	120.75	\$4.85	\$585.64	\$503.65	\$58.56	\$4.43	113.69	100.47	120.75	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	-	-	-	-	\$4.43	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$4.43	-	-	-	-	-
Grain Sorghum	Bushel	All	55.00	\$5.01	\$275.55	\$236.97	\$27.56	\$4.40	53.85	47.59	55.00	\$4.31	\$3.81
Oats	Bushel	All	-	-	-	-	-	\$3.52	-	-	-	-	-
Peanuts	Pound	All	-	-	-	-	-	\$0.253	5 -	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.253	5 -	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.253	5 -	-	-	-	-
Seed Cotton	Pound	All	2,125.61	\$0.40	\$841.32	\$723.54	\$84.13	\$0.350	2,061.93	1,822.20	2,125.61	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.350	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.350	-	-	-	-	-
Soybeans	Bushel	All	39.67	\$11.12	\$441.13	\$379.37	\$44.11	\$10.65		31.48	39.67	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65		-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65		-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.208		-	-	-	-
Wheat	Bushel	All	69.55	\$6.21	\$431.91	\$371.44	\$43.19	\$6.00	61.91	54.71	69.55	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



	Geneva								Assumes I Proje	ction			County Yield mption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	-	_	-	\$6.44	_	_	_	-	_
Canola	Pound	All	_	-	-	_	-	\$0.1996	_	-	_	-	-
Corn	Bushel	All	_	-	-	_	-	\$4.43	_	-	_	-	_
Corn	Bushel	Irrigated	193.89	\$4.85	\$940.37	\$808.72	\$94.04	\$4.43	182.55	161.33	193.89	\$4.17	\$3.69
Corn	Bushel	Nonirrigated	111.18	\$4.85	\$539.22	\$463.73	\$53.92	\$4.43	104.68	92.51	111.18	\$4.17	\$3.69
Grain Sorghum	Bushel	All	39.57	\$5.01	\$198.25	\$170.50	\$19.83	\$4.40	38.75	34.24	39.57	\$4.31	\$3.81
Oats	Bushel	All	46.40	\$3.38	\$156.83	\$134.87	\$15.68	\$3.52	38.31	33.86	46.40	\$2.91	\$2.57
Peanuts	Pound	All	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Irrigated	3,914.98	\$0.27	\$1,047.26	\$900.64	\$104.73	\$0.2535	3,552.78	3,139.68	3,914.98	\$0.23	\$0.20
Peanuts	Pound	Nonirrigated	2,981.78	\$0.27	\$797.63	\$685.96	\$79.76	\$0.2535	2,705.92	2,391.32	2,981.78	\$0.23	\$0.20
Seed Cotton	Pound	All	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Irrigated	2,371.54	\$0.40	\$938.66	\$807.25	\$93.87	\$0.3509	2,300.48	2,033.00	2,371.54	\$0.34	\$0.30
Seed Cotton	Pound	Nonirrigated	1,500.96	\$0.40	\$594.08	\$510.91	\$59.41	\$0.3509	1,455.97	1,286.69	1,500.96	\$0.34	\$0.30
Soybeans	Bushel	All	28.00	\$11.12	\$311.36	\$267.77	\$31.14	\$10.65	25.14	22.22	28.00	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	i -
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	1,101.00	\$0.23	\$254.11	\$218.53	\$25.41	\$0.2081	1,050.07	928.02	1,101.00	\$0.20	\$0.18
Wheat	Bushel	All	36.40	\$6.21	\$226.04	\$194.39	\$22.60	\$6.00	32.40	28.63	36.40	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	i -
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



	Greene								Assumes I Proje	ction		Assur	ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	-	\$6.44	_	-	_	_	_
Canola	Pound	All	_	-	_	_	-	\$0.1996	_	-	_	-	_
Corn	Bushel	All	159.58	\$4.85	\$773.96	\$665.61	\$77.40	\$4.43	150.25	132.78	159.58	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	-	-	-		\$4.43	-	-	-	, -	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$4.43	-	-	-	-	-
Grain Sorghum	Bushel	All	41.70	\$5.01	\$208.92	\$179.67	\$20.89	\$4.40	40.83	36.09	41.70	\$4.31	\$3.81
Oats	Bushel	All	51.00	\$3.38	\$172.38	\$148.25	\$17.24	\$3.52	42.11	37.22	51.00	\$2.91	\$2.57
Peanuts	Pound	All	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	1,827.31	\$0.40	\$723.25	\$622.00	\$72.33	\$0.3509	1,772.56	1,566.46	1,827.31	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	26.60	\$11.12	\$295.79	\$254.38	\$29.58	\$10.65	23.88	21.11	26.60	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.2081	-	-	-	-	-
Wheat	Bushel	All	58.33	\$6.21	\$362.23	\$311.52	\$36.22	\$6.00	51.92	45.88	58.33	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



	Hale								Assumes I Proje	ction		Assur	ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	_	_	_	_	\$6.44	_	-	_	_	_
Canola	Pound	All	-	-	-	_	-	\$0.1996	-	-	-	-	-
Corn	Bushel	All	172.58	\$4.85	\$837.01	\$719.83	\$83.70	\$4.43	162.49	143.60	172.58	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	-	-	-	-	\$4.43	-	-	-		-
Corn	Bushel	Nonirrigated	-	-	-	_	-	\$4.43	-	-	-	-	-
Grain Sorghum	Bushel	All	43.67	\$5.01	\$218.79	\$188.16	\$21.88	\$4.40	42.76	37.79	43.67	\$4.31	\$3.81
Oats	Bushel	All	-	-	-	-	-	\$3.52	-	-	-	-	-
Peanuts	Pound	All	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	1,782.00	\$0.40	\$705.32	\$606.58	\$70.53	\$0.3509	1,728.61	1,527.64	1,782.00	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	43.78	\$11.12	\$486.83	\$418.67	\$48.68	\$10.65	39.31	34.74	43.78	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.2081	-	-	-	-	-
Wheat	Bushel	All	57.33	\$6.21	\$356.02	\$306.18	\$35.60	\$6.00	51.03	45.10	57.33	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



	Henry								Assumes I Proje	ction		Assur	County Yield mption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$6.44	_	_	_	_	_
Canola	Pound	All	_	_	_	_	_	\$0.1996	_	_	_	_	_
Corn	Bushel	All	_	_	_	_	_	\$4.43	_	_	_	_	_
Corn	Bushel	Irrigated	196.93	\$4.85	\$955.11	\$821.39	\$95.51	\$4.43	185.41	163.86	196.93	\$4.17	\$3.69
Corn	Bushel	Nonirrigated	80.87	\$4.85	\$392.22	\$337.31	\$39.22	\$4.43	76.14	67.29	80.87	\$4.17	\$3.69
Grain Sorghum	Bushel	All	36.39	\$5.01	\$182.31	\$156.79	\$18.23	\$4.40	35.63	31.49	36.39	\$4.31	\$3.81
Oats	Bushel	All	44.20	\$3.38	\$149.40	\$128.48	\$14.94	\$3.52	36.50	32.26	44.20	\$2.91	\$2.57
Peanuts	Pound	All	-	-	-	· -	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Irrigated	4,411.62	\$0.27	\$1,180.11	\$1,014.89	\$118.01	\$0.2535	4,003.47	3,537.99	4,411.62	\$0.23	\$0.20
Peanuts	Pound	Nonirrigated	3,027.52	\$0.27	\$809.86	\$696.48	\$80.99	\$0.2535	2,747.42	2,427.97	3,027.52	\$0.23	\$0.20
Seed Cotton	Pound	All	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Irrigated	2,467.18	\$0.40	\$976.51	\$839.80	\$97.65	\$0.3509	2,393.25	2,114.99	2,467.18	\$0.34	\$0.30
Seed Cotton	Pound	Nonirrigated	1,585.39	\$0.40	\$627.50	\$539.65	\$62.75	\$0.3509	1,537.87	1,359.08	1,585.39	\$0.34	\$0.30
Soybeans	Bushel	All	39.54	\$11.12	\$439.68	\$378.12	\$43.97	\$10.65	35.50	31.38	39.54	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.2081	-	-	-	-	-
Wheat	Bushel	All	29.47	\$6.21	\$183.01	\$157.39	\$18.30	\$6.00	26.23	23.18	29.47	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



ŀ	Houston									Assumes MYA Price Projection		Assumes County Y Assumption		nption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre		2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yiel Assumption 2/	Payment	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_		\$6.44	_	_	_	_	_
Canola	Pound	All	_	_	_	_	_		\$0.1996	_	_	_	_	_
Corn	Bushel	All	_	_	_	_	_		\$4.43	_	_	_	_	_
Corn	Bushel	Irrigated	198.59	\$4.85	\$963.16	\$828.32	\$96.32		\$4.43	186.98	165.24	198.59	\$4.17	\$3.69
Corn	Bushel	Nonirrigated	76.27	\$4.85	\$369.91	\$318.12	\$36.99		\$4.43	71.81	63.46	76.27	\$4.17	\$3.69
Grain Sorghum	Bushel	All	45.20	\$5.01	\$226.45	\$194.75	\$22.65		\$4.40	44.26	39.11	45.20	\$4.31	\$3.81
Oats	Bushel	All	43.20	\$3.38	\$146.02	\$125.58	\$14.60		\$3.52	35.67	31.53	43.20	\$2.91	\$2.57
Peanuts	Pound	All	-	-	-	-	-		\$0.2535	-	-	-	-	-
Peanuts	Pound	Irrigated	4,624.17	\$0.27	\$1,236.97	\$1,063.79	\$123.70		\$0.2535	4,196.37	3,708.44	4,624.17	\$0.23	\$0.20
Peanuts	Pound	Nonirrigated	2,821.61	\$0.27	\$754.78	\$649.11	\$75.48		\$0.2535	2,560.55	2,262.84	2,821.61	\$0.23	\$0.20
Seed Cotton	Pound	All	-	-	-	-	-		\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Irrigated	2,336.83	\$0.40	\$924.92	\$795.43	\$92.49		\$0.3509	2,266.80	2,003.25	2,336.83	\$0.34	\$0.30
Seed Cotton	Pound	Nonirrigated	1,529.98	\$0.40	\$605.57	\$520.79	\$60.56		\$0.3509	1,484.13	1,311.57	1,529.98	\$0.34	\$0.30
Soybeans	Bushel	All	29.33	\$11.12	\$326.15	\$280.49	\$32.62		\$10.65	26.34	23.27	29.33	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-		\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-		\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-		\$0.2081	-	-	-	-	-
Wheat	Bushel	All	45.40	\$6.21	\$281.93	\$242.46	\$28.19		\$6.00	40.41	35.71	45.40	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-		\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-		\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



	Jackson									Assumes MYA Price Projection		Assumes County Y Assumption		•
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre		2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	48.17	\$5.07	\$244.22	\$210.03	\$24.42		\$6.44	32.61	28.82	48.17	\$4.36	\$3.85
,		All	46.17	\$5.07	\$244.22	\$210.03	\$24.42		\$0.44 \$0.1996	32.01	20.02	46.17	\$4.30	\$3.85
Canola	Pound		452.57	-	-	- 4626.27	- 674.00		•	4.42.65	126.05	452.57	-	- 42.60
Corn	Bushel	All	152.57	\$4.85	\$739.96	\$636.37	\$74.00		\$4.43	143.65	126.95	152.57	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	-	-	-	-		\$4.43	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-		\$4.43	-	-	-	-	-
Grain Sorghum	Bushel	All	47.40	\$5.01	\$237.47	\$204.22	\$23.75		\$4.40	46.41	41.02	47.40	\$4.31	\$3.81
Oats	Bushel	All	55.33	\$3.38	\$187.02	\$160.84	\$18.70		\$3.52	45.69	40.38	55.33	\$2.91	\$2.57
Peanuts	Pound	All	-	-	-	-	-		\$0.2535	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-		\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-		\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	2,775.89	\$0.40	\$1,098.70	\$944.88	\$109.87		\$0.3509	2,692.70	2,379.62	2,775.89	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-		\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-		\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	41.93	\$11.12	\$466.26	\$400.98	\$46.63		\$10.65	37.65	33.27	41.93	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-		\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-		\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-		\$0.2081	-	-	-	-	-
Wheat	Bushel	All	70.54	\$6.21	\$438.05	\$376.72	\$43.81		\$6.00	62.79	55.49	70.54	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-		\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-		-		-		\$6.00	-	-	-	-	

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields